
線形代数（再履修） — 行列式 解答 （2010 年度後期 担当：佐藤）

問題 7.1.

sign

(
1 2 3

1 2 3

)
= +1, sign

(
1 2 3

3 1 2

)
= +1, sign

(
1 2 3

2 3 1

)
= +1,

sign

(
1 2 3

1 3 2

)
= −1, sign

(
1 2 3

3 2 1

)
= −1, sign

(
1 2 3

2 1 3

)
= −1.

問題 7.2. この公式を（3次正方行列に関する）サラスの公式という；

det

 a11 a12 a13

a21 a22 a23

a31 a32 a33


=a11a22a33 + a12a23a31 + a13a21a32 − (a13a22a31 + a23a32a11 + a33a12a21)

問題 7.3.

(1) det(A) = 1

(2) det(B) = 1

(3) det(C) = 6

問題 7.4.

(1) det(AB) = 1

(2) det(C−1) =
1
6

問題 7.5. det(P [i, λ]) = λ, det(Q[i, j]) = −1, det(R[i, j, λ]) = 1
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